
Everoll Industries Limited
Solutions for Architectural Hardware

Offset Tension Bands, Galvanized Steel

Part # Description Price CAD

OTB1516 Offset Tension Band, 1 5/16"

OTB158 Offset Tension Band, 1 5/8"

OTB11116 Offset Tension Band, 1 11/16"

OTB178 Offset Tension Band, 1 7/8"

OTB238 Offset Tension Band, 2 3/8"

OTB278 Offset Tension Band, 2 7/8"

OTB312 Offset Tension Band, 3 1/2" 

OTB412 Offset Tension Band, 4 1/2" 

OTB658 Offset Tension Band, 6 5/8" 

Brace Bands, Galvanized Steel

Part # Description Price CAD

BD1516 Brace Band, 1 5/16"

BD158 Brace Band, 1 5/8"

BD11116 Brace Band, 1 11/16"

BD178 Brace Band, 1 7/8"

BD238 Brace Band, 2 3/8" 

BD278 Brace Band, 2 7/8" 

BD312 Brace Band, 3 1/2" 

BD412 Brace Band, 4 1/2" 

BD658 Brace Band, 6 5/8" 

3505 Laird Rd, Unit 9

Mississauga, ON L5L 5Y7

Toll Free: 1 844 254 9614

Tel: 905 766 0080  Fax: 289 290 0136

www.everoll.com

jim@everoll.com



Everoll Industries Limited
Solutions for Architectural Hardware

Gate Clip, Glvanized Steel

Part # Description Price CAD

GC114 Gate Clip, 1 1/4", 

Line Post Caps, Aluminium

Part # Description Price CAD

LPC112-1516 Line Post Cap, 1 1/2"x 1 5/16" Loop

LPC158-1516 Line Post Cap, 1 5/8"x 1 5/16" Loop

LPC11116-1516 Line Post Cap, 1 11/16"x 1 5/16" Loop

LPC11116-11116 Line Post Cap, 1 11/16"x 1 11/16" Loop

LPC178-1516 Line Post Cap, 1 7/8"x 1 5/16" Loop

LPC178-11116 Line Post Cap, 1 7/8"x 1 11/16" Loop

LPC238-11116 Line Post Cap, 2 3/8"x 1 11/16" Loop

LPC212-2 Line Post Cap, 2 1/2"x 1 5/16" Loop

LPC278-1523 Line Post Cap, 2 7/8"x 1 11/16" Loop

3505 Laird Rd, Unit 9

Mississauga, ON L5L 5Y7

Toll Free: 1 844 254 9614

Tel: 905 766 0080  Fax: 289 290 0136

www.everoll.com

jim@everoll.com



Everoll Industries Limited
Solutions for Architectural Hardware

Terminal Post Caps, Aluminium

Part # Description Price CAD

TPC178 Terminal Post Cap, 1 7/8" Dome

TPC238 terminal Post Cap, 2 3/8" Dome

TPC278 terminal Post Cap, 2 7/8" Dome

TPC312 terminal Post Cap, 3 1/2" Dome

TPC312-SC terminal Post Cap, 3 1/2" c/w Screw Dome

TPC412-SC terminal Post Cap, 4 1/2" c/w Screw Dome

TPC658-SC terminal Post Cap, 6 5/8" c/w Screw Dome

Rail End Caps, Aluminium

Part # Description Price CAD

REC114-R Rail End Cap, 1 1/4" Round

REC1516-R Rail End Cap, 1 5/16" Round

REC1516-S Rail End Cap, 1 5/16" Slotted

REC11116-S Rail End Cap, 1 11/16" Slotted

3505 Laird Rd, Unit 9

Mississauga, ON L5L 5Y7

Toll Free: 1 844 254 9614

Tel: 905 766 0080  Fax: 289 290 0136

www.everoll.com

jim@everoll.com



Everoll Industries Limited
Solutions for Architectural Hardware

Top Rail Sleeve, 

Part # Description Price CAD

TRS1516-6 Top Rail Sleeve, 1 5/16" x 6"

TRS11116-7 Top Rail Sleeve, 1 11/16" x 7"

 

Post Collar Steel Hooked

Part # Description Price CAD

PC178-GL Post Collar, 1 7/8", Galvanized

PC238-GL Post Collar, 2 3/8", Galvanized

PC178-BLK Post Collar, 1 7/8", Black

PC238-BLK Post Collar, 2 3/8", Black

Barbed Wire Arm, Aluminium

Part # Description Price CAD

BWA238 Barbed Wire Arm, 45 Degree, 2 3/8" 

3505 Laird Rd, Unit 9

Mississauga, ON L5L 5Y7

Toll Free: 1 844 254 9614

Tel: 905 766 0080  Fax: 289 290 0136

www.everoll.com

jim@everoll.com



Everoll Industries Limited
Solutions for Architectural Hardware

Gate Latch Catch, Steel

Part # Description Price CAD

GLC178 Gate Latch Catch, 1 7/8", Black

Gate Latch Finger, Steel

Part # Description Price CAD

GF114 Gate Latch Finger, 1 1/4", Black, 2 PCs

Cane Bolt Guides, Steel

Part # Description Price CAD

CBG 11116 Cane Bolt Guide, 1 11/16" x 3/4" 4 PCs set,

 5/16x 1 1/4 Bolts extra

3505 Laird Rd, Unit 9

Mississauga, ON L5L 5Y7

Toll Free: 1 844 254 9614

Tel: 905 766 0080  Fax: 289 290 0136

www.everoll.com

jim@everoll.com



Everoll Industries Limited
Solutions for Architectural Hardware

J Bolt 

Part # Part # Price CAD

JBW123 J Bolt with Bat Wing, 1/2" x 3", Nut

JBW346 J Bolt with Bat Wing, 3/4" x 6", Nut

JBW3412 J Bolt with Bat Wing, 3/4" x 612", Nut

JBW19 J Bolt with Bat Wing, 1" x 9", Nut

JB123 J Bolt, 1/2" x 3", Nut

JB346 J Bolt, 3/4" x 6", Nut

JB3412 J Bolt, 3/4" x 612", Nut

JB19 J Bolt, 1" x 9", Nut

Carriage Nuts & Bolts

Part # Description Price CAD

CNB114 Carriage Nuts & Bolts, 3/8, 1 1/4" L,  4 sets

Tension Bar, Steel 

Part # Description Price CAD

TB4 Tension Bar 1" x 4', Galvanized 

3505 Laird Rd, Unit 9

Mississauga, ON L5L 5Y7

Toll Free: 1 844 254 9614

Tel: 905 766 0080  Fax: 289 290 0136

www.everoll.com

jim@everoll.com



Everoll Industries Limited
Solutions for Architectural Hardware

 

3505 Laird Rd, Unit 9

Mississauga, ON L5L 5Y7

Toll Free: 1 844 254 9614

Tel: 905 766 0080  Fax: 289 290 0136

www.everoll.com

jim@everoll.com


